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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions. In case of any 
discrepancy, the English Version will be final for all purposes. 
Check your paper code and paper title before staring the 
paper. Calculators are not allowed.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE& {H$gr ^r {dg§J{V H$s 
pñW{V ‘| A§J«oOr ê$n hr ApÝV‘ ‘mZm Om¶oJm& àûZnÌ ewê$ H$aZo go 
nyd© àûZnÌ H$moS> d àûZnÌ erf©H$ Om±M bo& Ho$bHw$boQ>a H$s AZw‘{V 
Zht h¡&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.
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	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is the full form of EEPROM?
		  EEPROM H$m nyU© ‹‹ê$n ³¶m h¡?

	 (ii)	 CMOS axis sometimes referred to as ‘‘complementary - 
symmetry metal oxide semiconductor’’. Give reason for it.

		  CMOS H$mo H$^r H$^r ""nyaH$ g‘{‘V YmVw Am³gmBS> AY©MmbH$''^r 
H$hm OmVm h¡& BgH$m H$maU Xr{OE&

	 (iii)	 What do you mean by ‘‘Embedded Microprocessors’’?
		  ""Embedded Microprocessors'' go AmnH$m ³¶m VmËn¶© h¡?

	 (iv)	 What is the meaning of ‘‘PSW’’?

		  ‘‘PSW’’ H$m ³¶m VmËn¶© h¡?

	 (v)	 What does mean by ‘‘Machine Language Program’’?
		  ""‘erZ ^mfm àmoJ«m‘'' H$m ³¶m A{^àm¶ h¡?

	 (vi)	 ‘‘SRAM is volatile memory’’. Is this statement true?
		  ""SRAM EH$ dmobmQ>mBb (n[adVu) ñ‘¥{V h¡''? ³¶m ¶h H$WZ 

gË¶ h¡?

	 (vii)	What do you mean by ‘‘INTR’’ and ‘‘INTA’’ for 
Microprocessor 8086?

		  ‘mBH«$moàmogoga 8086 Ho$ {bE ‘‘INTR’’ VWm ‘‘INTA’’ go AmnH$m 
³¶m VmËn¶© h¡?
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	 (viii)	‘‘The Intel 80286 is the advanced version of 8086 with ‘‘x’’ 
stages of pipe lining which is extended to 6 stages in case 

of 80386’’. What is the numerical value of ‘‘x’’?

		  ""BÝQ>ob 80286 ‘‘x’’ MaUmo Ho$ nmBn bmBqZJ Ho$ gmW 8086 H$m 
CÝZV ê$n h¡ {OgH$mo {H$ 80386 Ho$ {bE 6 MaUm| VH$ {dñVm[aV 
{H$¶m OmVm h¡? ¶hm± ‘‘x’’ H$m Am§{H$H$ ‘mZ ³¶m h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What do you mean by ‘‘Noise Immunity’’ in logic circuits?

	 VH©$ n[anWm| Ho$ {bE ‘‘Noise Immunity’’ go AmnH$m ³¶m A{^àm¶ h¡?

3)	 Explain the ‘‘Memory Architecture’’?

	 ñ‘¥{V Am{H©$Q>o³Ma H$mo g‘PmBE&

4)	 Discuss the Virtual 8086 Mode.

	 Am^mgr (Virtual) 8086 {dYm H$mo g‘PmBE&

5)	 Draw the flowchart of ‘‘Program Loop’’ and also flowchart of 

‘‘Program Loop Which allows Zero Iterations’’.

	 ""àmoJ«m‘ byn'' H$m âbmoMmQ>© ~ZmBE VWm ""eyÝ¶ nwZamdV© AZw‘V àmoJ«m‘ 
byn'' H$m ^r âbmoMmQ>© ~ZmBE&
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6)	 Draw the PIN Diagram 8253.

	 8253 H$m [nZ {MÌ ~ZmBE&

7)	 What do you mean by ‘‘Flag Register’’ for 8085. Discuss the 

‘Sign Flag (S)’ and Zero Flag (Z).

	 8085 Ho$ {bE "âboJ a{OñQ>a' go Amn ³¶m g‘PVo h¢? Sign Flag (S) 

VWm Zero Flag (Z) H$s ì¶m»¶m H$[aE&

8)	 Discuss the General format of Assembly Language Program 
(Simple Programs) for 8085.

	 8085 Ho$ {bE Egoå~br ^mfm àmoJ«m‘ (gmYmaU àmoJ«m‘) Ho$ gm‘mÝ¶ àmê$n 
H$s {ddoMZm H$[aE&

9)	 What does mean by RAM? Also draw the block diagram of 
RAM.

	 RAM H$m ³¶m VmËn¶© h¡? RAM H$m ãbmH$ {MÌ ^r ~ZmBE&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 
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10)	 Explain the following.

	 (i)	� What do you mean by RTL logic circuit. Draw the circuit 
diagram of RTL. Also discuss the disadvantages of RTL 
circuit.

	 (ii)	� What do you mean by Tristate Logic (TSL)? Draw the 
symbol for it and also write the uses of TSL.

	 {ZåZ H$mo g‘PmBE&					         (8+8)
	 (i)	� RTL VH©$ n[anW go AmnH$m ³¶m VmËn¶© h¡? RTL H$m n[anW {MÌ 

~ZmAmo VWm RTL n[anW H$s hm{Z¶m| H$mo ^r ~VmBE&
	 (ii)	� Tristate Logic (TSL) H$m ³¶m VmËn¶© h¡? BgH$m àVrH$ {MÝh 

~ZmAmo VWm TSL Ho$ Cn¶moJ H$mo ^r ~VmBE&

11)	 Explain the following.

	 (i)	 General Organization of Microcomputer.

	 (ii)	 Propagation delay time with proper diagram.

	 {ZåZ H$mo g‘PmBE&					         (8+8)
	 (i)	 ‘mBH«$moH$åß¶wQ>a H$s gm‘mÝ¶ g§aMZm&
	 (ii)	 C{MV {MÌ ~ZmVo hþE g§MaU {dbå~ g‘¶&

12)	 (i)	� What do you mean by Instruction Cycle? Also explain the 

Fetch Operation.

	 (ii)	� What do you mean by Addressing Modes of 8086. Also 

discuss the Register Addressing Mode and Immediate 

addressing Mode.

	 (i)	 {ZX}e MH«$ go AmnH$m ³¶m A{^àm¶ h¡?		       (8+8)
		  ’o$M g§{H«$¶m H$mo ^r g‘PmBE&
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	 (ii)	� 8086 Ho$ ES´>oqgJ {dYm gmo Amn ³¶m g‘PVo h¢? a{OñQ´>a ES´>oqgJ 
{dYm VWm VËH$mb ES´>oqgJ {dYm H$s {ddoMZm H$s{OE&

13)	 Classify the DATA transfer methods. Discuss the programmed 

DATA transfer scheme in detail.

	 DATA ñWmÝVaU {d{Y¶m| H$m dJuH$aU H$s{OE& Programmed DATA  

ñWmZmÝVaU {d{Y H$mo {dñVma go g‘PmBE&


